AVIERICA

Catalogo de Produtos

Proportional Electro-Hydraulic Relif and Flow Control Valves, Type
PQ10-20/140-125



Proportional Electro-Hydraulic Relif and Flow

BEIJING HUADE Control Valves,Type PQ10-20/140-125 RE 24750/06.2004

HYDRAULIC INDUSTRIAL
GROUP CO.,LTD. Size 10 upto 14 MPa | upto 125 L/min Replaces:

Features:

- For subplate mounting

- Protected by high voltage

- Output flows scale by input elec-messages

- System Pressure could achieve the changes to scale

Function, section;Symbol

This pressure and flow control valve is an energy-saving i
valve that can adjust the pressure and flow of system
proportional to electrical sign,

Since the valves controls the pump pressure by follow-
ing the load pressure while keeping the differential

e . . e e mw e AR
pressure minimized,it serves as a low power-consump- o R Pl
tion energy-saving ,meter-in,controlled flow control valve. mIRE: ""'.'E'u' Eracl
| S - "-"'\--!__:'
Further,since a temperature compensation function is R A ] e
. . . . Frssd peass D e
incorporated,this valve provides consistent flow control I g N e S, .
i . prarar oy = i [
without respect to the fluid temperature. A . _:J_ 1 I ._‘r:;;‘l.i. |
] ! 1t
) I e N
Fradal | Bk
o
| .-'l.. . -'I 3 |.'I'.'.‘".=\*I.- .i:.l.:h. i
P ¥ N
; i [
10 !
L A - A circumvolve

Symbol:

Huade América 2



Ordering details

| PQ 10 ‘ 20 B l-I_Ai/140 ‘ 125[ *

Proportional Electro-Hydraulic pressure
and Flow Control Valves

Nominal size 10 =10

20 = Series 20 to 29
(20 to 29: unchanged installation and connection
dimensions)

Technology of Beijing Huade Hydraulic

Further details in clear text

No code = NBR seals
\ = FPM seals
125 = Max. Flow 125 L/min
140 = Pressure stage 140

Technical data (for applications outside these parameters, please consult us!)

Pressure fluid

Mineral oil(for NBR seal),

Phosphate ester (for FPM seal)

Pressure fluid temperature range

(c)

- 30 to + 80 (with NBR seals)

- 20 to + 80 (with FKM seals)

Viscosity range (mm?/s) 2.8 t0 500
Maximum permissible degree of contamination of the pressure fluid is to NAS 1638
Degree of contamination
class 9. We, therefore, recommend a filter with a minimum retention rate of § ., > 75.
Max. operating pressure (MPa) to 14
Max. flow (L/min) to 125
Pressure fluid flow range (L/min) 1~125
Rated Current (L/min) 680
Coil Resisitance (Q) 43.5
Flow Controls | Differential Pressure (MPa) 0.6
Hysteresis 7%
Repeatabibly 1%
Pressure Adjust Range (MPa) 0.8~14
Pressure Rated Current 710
Controls Coil Resisitance (Q) 10
Hysteresis 3%
Repeatabibly 1%
Weight (Kg) 16

Operating Curves (measured at v =41 X 10°m?%S t=50°C )

Relationship of the flow to the input current

Flow in L/min —
&

D100 200 300 400 500 600

Input Current in mA —

Huade América

Relationship of the pressure to the input current

IE
of

Pressure in MPa —

U000 400 600 800 100

Input Current in mA —




Unit dimensions: (Dimensions in mm)

- 1Ed -
ELT Inlet Port" P "
- = —
s Plug-in conneCtoy
; n
r g
1
[5¥]
.-;-f :ﬂ'l '
i
o
w0 =
s =
=]
2|
Air Vent
3HexSoc | . |
-\._\_\_-\-\--\-\- '
\\Q{ainPort"Y"
| ! I.l'.
L i
| : o
[ '
et T - o
| ) b : e
Outlet Port "A” f " nk Port"T
nAl L
II.' Manual Press.
VentPort" V" A"t'!'j.Screw" T ", 3Hex.Soc
Plug-in Connectors [
1 / \
N |
I AR
|J—l l—Ll
I_ _|_I
, | T
L |-
™ . 5
= @ T @ |
i il |
1 | e
| 1] [ 1] =
] ||
| || -
[ {1 [ ] o
[ {1 [ ]
, il i
[l ||
1 N
e |

Required surface finish
of the mating piece

7| 0,01/ 1000
| vl
D

Locating pins 2-¢6

Huade América




Subplates
G341/01 (G1/4” ) G341/02 (M14x1.5) Weight = 0.6kg (Dimensions in mm)

il Front panel cut-out

3 O Li[14 o111 N Qirs 1
18
1.1
M, =9 Nm
G342/01 (G3/8” ) G342/02 (M18x1.5) Weight =1.1kg (Dimensions in mm)
1 ¥
2 - Front panel cut-out Lt
3 : ___4|___‘|
| ]
. A e " . / Y
e ||/ \
\, T
== I‘-";{‘."‘ ,-+‘- i __@j' = ﬂ';F =+ |=
N Ela
g =!
1 T
A T‘\\? 7
o i -] L]h]
1 | S om/ 1, B
TH| .
i
T J),
M, =9 Nm
G502/01 (G1/2” ) G502/02 (M22x1.5) Weight =1.9kg (Dimensions in mm)

113 [T
118

- ” Front panel cut-out T
L A=
=014 VT @K
,.-" .ﬁ “H:'_"y.-r"' A I'“*.‘
P P i f&l"ﬁ ".I?§H'I|Hl=
=] NNE N Y
$if A% ,’fﬁ"' / .rf
P ""ﬂ_-" s
B T aliwhl]

M, =9 Nm

Huade América 5



Subplates

G66/01 G66/02 G67/01 G67/02

(Dimensions in mm)

]
Y "i ,
_n1 ] L7 Front panel
¥ | o EH 1 T
i - _ - - P =i cut-out
B 7|10 [ _ [TH] e
) Ll =] /
ST 2s ] 2 Pl = — &Y
el H-—4 . | all I gy Ll
: - T | = - = ’ P “
I | i B
4014 fa bl 1'@ 1£ NN = I:'"r —t WA -
N [P THEE ! [ o] Nl
T 7 i B = - ., . )
“H;f}"'ep ‘ LT = 8 e e gl W
3 ! (! n [
o 3 l | a_-_-"{}f/ s
T ] ‘ N
."':M::.. Y ] II'Ir. ."T.df.h'. [, &1 i i _.d—\-\.< ! I"".:: _.-"l L :i—-\.
LAY / anry ol L e T TR
W/ N S i 7.
: . y !
§ 1
[=1 Ea 1 BT
Type D1 T1 @ D2 Weight Valve fixing screws Tightening torque for screws
G66/01 G3/8” 12 28 4 -M6 x 50-10.9
G66/02 M18x1.5 approx. (GB/T70.1-2000), N
G67/01 G1/2” 14 34 2.3Kg Should be ordered
G67/02 M22x1.5 ' seperately.
G534/01 G534/02 (Dimensions in mm)
Front panel _ Nl _
o cut-out T

- (1] B tightenzing torgue of
screw=15N.m
Type D1 T O D2 Weight Valve fixing screws Tightening torque for screws
G534/01 G3/4 17 42 approx. 4-M6 x 50-10.9 (GB/T70.1-2000), 15N.m
G534/02 M27x2 2.5Kg Should be ordered seperately.

Huade América




Subplates

G535/01 G535/02 G536/01 G536/02

(Dimensions in mm)

n Front panel
[ IEH [ Fay]
2] a aitn o Y w o cutout
o ] IR P /!
;\"‘\-\. I'. — ‘x}'. \h'l. I.' .|"-
1 = | i = s i -
"C.U R i (e s e
) k! Ll - o - - |f3| Pl | .|(:}. I
44311 Fmt i F ol i ¥ g - I b
-\._\... ! 1 1 =T I i il LN o - i -
g I -3 fb-f e ek i'—-: ' [ I,rf.=::.' M\_ A #{:\H . 3l
Hfﬂm P o £ b 1 |*If ﬁ.\l #.';-H ff ﬁ“‘g |J t
1 | gy s | P o
! [ L1 I‘\.\._.-‘; L % l\.\_“‘; M -I| _r_[
1 TS
L W/ (e ! | h N |
A3 [ [ \ | R Ml S LY.
- II"- I.I .l -y H
L5 - -
_ 16 § __
Type D1 ™ D2 ¢ D3 Weight Valve fixing screws | Tightening torque for screws
G535/01 G3/4” 16 G1/4” 42 4-M6 x 45-10.9
G535/02 M27x2 M14x1.5 approx. (GB/T70.1-2000) 15N
.m
G536/01 G1” 18 G1/4” 47 3.6Kg Should be ordered
G536/02 M33x2 M14x1.5 seperately.
G172/01 G172/02 (Dimensions in mm)
Front panel
[FEl] [ L [ H m A Tl -3 cut-out
Fia !.\ ﬂ 'I-:-. L “,r:ol.e:;gflh:-'l' \ ) i o f
M‘"-Hq;:l '.I -Jocaﬁnq‘,bi;]'\.lll | K - - J
¥ & s - ' “,
] bl W
i i v > ~all eali U H e
il L . - _
L /{E.-"If 3 ) ,{3-.:" 1
l- ' '\-‘:l_. 1
i I.I"I S, .!I > ,_-". lII j | = =
ar e .
P _,"' '{-:.-"r1 "\-L& Iﬁ{ I.--_T.'\a. .-'"'- - é-.'| ]
2P M 9 .
i/ g [ RN = |
w | [T W
i o
it i
- T
|| §]
180§
141
| 1 _
Type D1 D2 Weight Valve fixing screws Tightening torque for screws
G172/01 | G3/4” G1/4” approx. 4-M10 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 62N.m
G172/02 | M27x2 | M14x1.5 2.8kg 2-M6 x 60--10.9 (GB/T70.1-2000),Should be ordered seperately. 12.5N.m

Huade América




Subplates

G174/01 G174/02 (Dimensions in mm)
Front panel
il i cut-out
hole of locating pin . B
B 88 atE N Ny ey i 1 ¢inm . i
| A - .
e i | '|h ."' l"'.lh 1 J_.-gﬁ:' A ® .
I 7 E"I:. "G - i I:}Il | -J_".'_..:;..-'
¥ - f =
=|= l J?." AR i & | gl = = 4 i
A g =i ! i E A ; ! a
| Sk J ]
AE T Y g L
| : i
12 M_pi.3
L= w1
-—
. W5 |
e :1 i -
- e - Hi
- 10,8 - - s | -
168
- 14 -

Type D1 D2 Weight Valve fixing screws Tightening torque for screws
G174/01 G1” G1/4” approx. 4-M10 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 62N.m
G174/02 | M33x2 | M14x1.5 5.5kg 2-M6 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 12.5N.m

G174/08 (Dimensions in mm)

— Front panel
CRL LI 1 cut-out
hole of locating pin ' [ H —
S8 8§ w0 I-ulE :I. ] £ = =i
i 2! '\.II || "' '|II Il_. - -
i T - ) 1
B {E} f'ﬁ .' I"\. éﬁ*% | —
1 v, [T E i [
| | g NS .
clwl=| 7= r / i il ¥ ] B =t
Hi g =i 1 J_." o | ..’:T _3_\.- & |
LI 11 i h L '] Wi g_ i |
L 1™ b, T L =
= i@ R el ]
12 |
-1 M
| ]
55,9 @
M S E—
.1 118
1.8 120
1
Type Pressure Type Weight Valve fixing screws Tightening torque for screws
G174/08 25MPa 009 271 approx. 4-M10 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 62N.m
40MPa 009 272 5.5kg 2-M6 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 12.5N.m

Huade América




Subplates

G151/01(G17)G151/02(M33x2):G153/01(G1”) G153/02(M33x2)

(Dimensions in mm)

12.5
'™ =
05§
™ = id.4.1
[ LE N g - ¥ 5
o 0.1 C—
L L 33 §
'l'”? T L B8 LE
]| -y £l -, T

[N

i o - 3 = o L Y =+
: W S _._'_;%, s == S :

i o ey . e ol nr-""j . '|--- i

\x.

Migr

20 i
- il 5l —-—
i7E.8
- -
105, B
- -
- “ ——
dd
e

-'F'x'

; 1 A S ] =
b i 1 A i !-- o \! f W iy | z
ol i T TN o ?"l/-?”” A EET O -ﬁ“! Ry AT
o | T LA A Lo, | o . i o r L L o L 4 | =
R U ) o L R M el
V. Amaf | I L5 ol AR -
6/ f|me) '\ o04,5 R WA
- | . T | (Y] y
! N 104.8 o
(eery [ T |

L of ¢ 8 only used on G153/01

Size Type Weight Valve fixing screws

Tightening torque for screws

1) Only used on

G151/01
G151/02
G153/01
G153/02

6 - M12x60-10.9
(GB/T70.1-2000),

NG25 105Nm

5kg

valves which are
pressure-centred

G154/01(G11/47);G154/02(M42x2):G156/01 G156/02(M48x2)

(Dimensions in mm)

WL 0

]

- ,.‘ll - L
_— =] SN Y
S N - F n it B
31 £ L S - -
= - £ al] a5 o | T4.E 0.4
- - .~ =
, -, |t ;__,.f - o RIS .,.-._-__ _,r-,! | ! T ' E Y
LAk } 2 | ..F. E T __..-"-__..-'-' 1 e =7 _— o
. - . . - I I § & - I‘|
i = ] :: 1 - - — | T . ¥ 1 . W ..
R = . 1%, f)f} | :
| e r- i I I E— | - AN l
| T oy T | -2 3
E T " IR i1} r | =:" A : - -\.r_.-u [
I A H == - |l - I
o | s ™. 1 i E , T, . a
o fa=baba 1 R 1 .'I:}I - [} 1 1
|- ¥ 1 i ¥ ik i ! { i \ i ' I
TR Y - R " L | R ol ._'_h. ""‘{'nl'l'
b= P i | 5 e | = t [ - el u .
I~ : ————
_I' s.o || 1 | T | . _‘H_I,._Ii VLD L
T T - L N S Y L]
. | L] k
I 1 B - |
| =T 1 K4, B F
5.2
T
'K ]
- 1 -

L only used on valves which are pressure-centred

Size Type Weight D1 D2 Valve fixing screws

Tightening torque for screws

G154/01 G11/4”

58

NG25 G154/02 5kg M42x2 6 - M12x60 -10.9
G156/01 G11/2" 65 (GB/T70.1-2000)
G156/02 M48x2

105Nm

20 Valve fixing screws 21 mating piece of valve 22 locating pin

Huade América

23 Front panel cut-out




Subplates

G154/08 flange connection (Dimensions in mm)

L]

p: 1
112 E M)
- ; g
§4.3 /:f i3 - * =]
T = 0,40 59 \ — L] |
51 / AT ) .4
29,2 1 AV -'Ee-:*:'!:l" ap EJ:- tz, | 408
I & x S
s ; it
[ S a e =t T
T s
& wLAT :_,..P. g
Lk, '
E T A m
=l g ol T B s
f LA LS {‘
NS A
' "-:;} 1 | {,3'-7 .
5.8 [] | b
S| e %, ol A8, T) [ .
/T R FE BB T
1
. i
5 “L” only used on valves which are pressure-centred
I::;. ; Type |Pressure Valve fixing screws
1EAd.
i4b flange conneting 009176 | 25MPa 6- M12x60 -10.9 (GB/T70.1-2000),
009177 | 40MPa

20 Valve fixing screws 21 mating piece of valve 22 locating pin 23 Front panel cut-out

G157/01(G1 1/2” );G157/02(M48 X 2) (Dimensions in mm)

FEADLERT

e S
AR

“L" only used on valves which are pressure-centred

Type Weight D1 D2 Valve fixing screws Tightening torque for screws
G157/01 18kg G11/2 G3/2 6 - M12x60-10.9 105Nm
G157/02 M48x2 | M18x1.5 (GB/T70.1-2000)

18 locating pin 19 Valve fixing screws 20 mating piece of valve 21Front panel cut-out

Huade América




Subplates

G158/10 flange connection

(Dimensions in mm)

En ot 0]
hole of slocating pin "-_ ]
T LT 1Y i Front panel
L] 1] . Y / 1
—, forports’A, B, T for ports X, Y, - cut-out
| —— . .". Ny i _I,-"' I:‘;.i.-"' 3 ;
I ~ \T 3/ F"_Q" L5E) !
Pl 4 I =
T — — ..._ | ..- '\.._E- . )
==18 T Tt Aol s ._-‘l
= ._._In . 5:!'-: 1:-:. | I.-_'I: I I
il ] I
| .k f} & I:. I::"' - -5 i
! R I I Sl b "'_:!:_.-' ]
H L i
[~ ! B | =
i - = =
- - H -
A
m
- IE |
“L” only used on valves which are pressure-centred
Type Pressure Type Weight Valve fixing screws Tightening torque for screws
165MPa 303 901
approx. 6-M20 x 80-10.9 (GB/T70.1-2000),
G158/10 to 25MPa 303 902 580N.m
30.5kg Should be ordered seperately.
to 40MPa 303 903

Huade América




Subplates

G51/01 (G1/4 ") G51/02 (M14 X 1.5) Weight. 1kg

(Dimensions in mm)

| = Y Ao ‘I 5 :
E' -i" th § i i - ey 1 1
. - "'.:_‘x"”..l N 1 ] | . ] -4 1
N 8T | L%
i : y - - $2 g
:{ i g e g
f o o P e
1 | o 1 A
= ‘ : =8 ,ﬂ o RAE g i
Ll . L o o
Lle h L3 SRR N
L= S + ] o -\._.-I 1
e AyE | T — T
o == 5 ) h5 om et
i3 [ - . 5 L E-\.I - £
) L Y
M— Rl 5
0d. 2

Valve fixing screws, 4-M18 x 40 -10.9 (GB/T70.1-2000)

Weight. 1kg (Dimensions in mm)

G565/01 (G3/4 ") G565/02 (M27 x 2)

- | -

=11t -

{1.9

Fan

b
i

: I [ 5
T
LM e
#1% )
s
+} Py
I.'. .
i "-.
T P [
= 1.6 -
- H -

Huade América

= -

] T
L] - iy
| e
E YA
G e W P
| g ..'\-:.-__
1. o o, T i
LT R g ]- 1 !n
=¥ 1 - - ] - z - ¥
= - " -y
- e e E 1. bl
i RN i .
H % it ik
] / l L =
¥ 4

Valve fixing screws, 4-M12 x 50-10.9(GB/T70.1-2000)

12




Subplates

P — " S - esns—, TR
. i i o =y RIS § H“ e
i  — i A g T T b ep i
e — & : iy I
T2 4 ¥ . A FAR—y L |,
-u-:l A E |}-—LB &3 3| :__.-B." . -I!:__: =
= T Ao T | LY # | o '...'.;‘}.'." t ["' ]"'
g e Lr=1 e § LR miE
. ] i o Rt ot £ =
et (D) . e |
——n R - N fh
r1 -\:, 1 | | .-':": 6 LS 4 .:'-'z L
P —_—— i i _ =
13" Hus et | (3 1y |—=mir
=R T A - U T, b
| ;‘:a'g 1 - -
Size Type D1 D2 T Valve fixing screws Tightening torque for screws Weight
G460/01 28 G3/8" 13
NG10 Ga60/02 M18 > 1.5 4-M10 x 40-10.9 69Nm 1.7kg
G461/01 2 G1/2" 16 (GB/T70.1-2000)
G461/02 M22 x 1.5
- 15 - - R ——
o = | o == L L m ———
i Rt B B ¥ | o 4. b
» — | Lo 1| ewns— G T8 T
] L1 1 | 1 | o - | ‘ L
J'H:" 79 ¥, | - - -.‘=11:';.:r_‘.-T:i'-\;n .
A+ E-l- e A I - S R
| e pelf M ) T a3 B il
ELa s 1= ot -'1 T LY *’:t."-,;;_: BT e E! A
o - A ) R
Lo kg™t ] - = A dEnk At |
B e e LT P W R . 51
| | — oo e — amm—" .':"!-f..,-. =l
I 2] IR T s g | e
St @ TR
1) R T o A =il
L [ R ..llj_il: | e [
-]l Thetdae
Size Type D1 D2 T Valve fixing screws Tightening torque for screws Weight
G412/01 42 G3/4" 17
G412/02 M27 x 2
NG25 . 4-M10 x 50-10.9 69Nm 3.3kg
G413/01 47 G1" 20 (GB/T70.1-2000)
G413/02 M33 x 2
- ]E - s )]
- | | ———— —_— = ]
= 1§ = @2 —LYT bB O - $ K _mm i
I —e ' TR B
i I I.H-I "1|' "-I ~—A0 ]2 1 [ _r ]”
o = 'lr-?. -‘-"“.E"" f 1 H-‘T.’-‘::E W ‘“.:"r"' fog =
1 =T 1 T ——— 0 e - __I_._ - — T Bl
SEE 1 -\_t:_ﬁ | Loam o ;_.1_1__"‘_;' 'Qu.-"'.:'__.. e L=
e i - S [T BT
1 = 'y By . &5 $I2TI .-__,.-"?'- '-:'E_E"__:"'-?" !Tll
1% [ Trat™ ST :
‘:" éf\'é ] " .-'q o m-ﬂ ¥ —h—E—i—E
B - q) By L
L e Tes: el May L
o LT e £y b e
g7 —=— L i —
Size Type D1 D2 T Valve fixing screws Tightening torque for screws Weight
G414/01 56 G11/4" 20.5
G414/02 M42 x 2
NG32 - 6-M10 x 60 -10.9 69Nm 5kg
G415/01 G11/2" (GB/T70.1-2000)
61 22.5
G415/02 M48 x 2

1 mating piece of valve

Huade América

2 Valve fixing screws

3 locating pin

4 Front panel cut-out




Subplates

R

—— ] =

Size Type D1 D2 T1 Valve fixing screws Tightening torque for screws Weight
G545/01 28 G3/8 13
G545/02 M18 x 1.5
NC10 * 4-M12 x 50 -10.9 (GB/T70.1-2000) 120Nm 1.5kg
G546/01 G1/2"
34 16
G546/02 M22 x 1.5
roo- 9
-3
B
_|_I ?1 —-—
=l
Ri— Bi—
Size Type D1 D2 T1 Valve fixing screws Tightening torque for screws Weight
G408/01 4 G3/4 17
G408/02 M27 x 2
NC25 * 4-M16 x 50-10.9 (GB/T70.1-2000) 295Nm 3.0kg
G409/01 G1"
47 20
G409/02 M33 x 2
14 b 4.
T3 RELALS !
| 1 el
E
1 R0
| 7 |
1 a0
R g f—eiia =lels
|- RN i1
Size Type Valve fixing screws Tightening torque for screws Weight
G410/01 58 G11/4 205
G410/02 M42 x 2
NC32 . 4-M18 x 50-10.9 (GB/T70.1-2000) 405Nm 5.0kg
G411/01 G11/2"
65 225
G411/02 M48 x 2

1 mating piee of valve 2 Valve fixing screws

Huade América

3 locating pin

4 Front panel cut-out




Subplates

G279/01(G1/2) G279/02(M22 x 1.5) G280/01 (G3/4) G280/02(M27 x 2)

(Dimensions in mm)

. 113 - i ol L
' | h =il | 15 depthl 'I’_ — o
e e h of'i . a' s ' R o ®
34 i +I - 11 LN | " ]
= = i | - ] = T L
i ¥ ; Tl 73
# -
e nd ¢rag R o
il ;E_ . ™ _
b T _ Lw_| ]
Size Type Weight D1 D2 T1 T2 Valve fixing screws Tightening torque
G279/01 G1/2 34 15 17
G279/02 5 3k M22 x 1.5 4-M8 x 50-10.9 37N.m
NC10 -9Kg
G280/01 G3/4 42 17 20 (GB/T70.1-2000)
G280/02 M27 x 1.5

G281/01(G1/2) G281/02(M23 x 2) G282/01(G1/4) G282/02(M42 X 1.5)

(Dimensions in mm)

& g1 f 1]
- - . - a =y
LY - W g L. ms
i F - AT 1 = - E - | i
Eot e +, B : ey P
f + ‘_'"I _.ﬁ i HI T = = _-':"_:;.'.1.'&__- )
kT = # 11 =1 r! T - T
| . e
5E = — -
2T e . : o mmun/an\ Wi
Sy | o e gl ."ﬁ:":r-"i T
b T ) o L AN -"-.- =
R | e _ T S =
Y S % S
foTi o = [, (T)
[ i a - -
Size Type Weight D1 D2 T1 Valve fixing screws Tightening torque
G281/01 G1 47 19
G281/02 M33 x 2 4-M10 x 80-10.9 75N.m
NC16 4kg
G282/01 G11/4" 56 21 (GB/T70.1-2000)
G282/02 M42 x 1.5

1. mating piece of valve 2, underside 3. Valve fixing screws 4. ¢ 20 for size 10 ¢ 30 for size 16 keep free from drillings used for orifice support 5. Valve panel cut-out

Huade América




Subplates

If have special request for dimensions of ports, please consult us when ordering

G701/01(G3/4”) G701/02(M27 x 2) G702/01 (G1”) G702/02(M33 X 2) (Dimensions in mm)

1 102 4
o 102
s
-mimip DELLL TTE
p ™, 3.8 - -l
| a-garsm ™ | o 1-82] .. _
“'-\.\,1 _'-,:l:-__qn_ ."_.- ; EE 7 1 1_'\.
i S a |7 .
:.I:_ -\.:a 4 g _'g’ . . ] |
e "__" ' L A
~ :: i, . ﬁ ' T = A
! ”*_,-,-_I I =T i x;»'
} 0 Wy g e ey #
¢ e A o[ ! i A
plim/ (g IS == - -
o | i /-
" ' oL 02
Type D1 D2 D3 Weight
G701/01 G3/4” G1/4” G1/4”
G701/02 M27 x 2 M14x1.5 M14x 1.5 6Kg
G702/01 G1” G1/4” G1/4”
G702/02 M33x2 M14x 1.5 M14x 1.5

Huade América




ANNOTATIONS :

HUADE AMERICA

CEP : 03162-020 )
RUA HIPODROMO 1445 — MOOCA, SAO PAULO, SP, BRASIL

TEL : (11) 3186-5959
huade@huade.com.br
www.huade.com.br

Huade América


mailto:huade@huade.com.br

